BT TRIHE « AOFE ( AFTE4LA LA BE. HEHAD)
REHIX LR T 5 'y Fan S H X LR 5 % Fan
A1 TH 1, 088 1,176 1, 368 2,544 S RAMT 346 425 425 850
AE2TH 730 923 945 1, 868 K ELHT 161 212 230 442
ARSI 140 147 163 310 fa:SEmY 158 222 233 455
JHH / AKHT 479 534 634 1,168 b ELRT 193 210 254 464
A AT 627 723 883 1, 606 /NPT 179 231 231 462
R I PNHET 490 634 735 1, 369 SERT 62 82 30 162
ZKEHHT 191 206 223 429 Hh X 2t 1, 099 1, 382 1,453 2. 835
e HT 78 107 142 249
BAA 1 T H 166 231 306 537 | EMEHMX K % = Fin
HAM2TH 155 174 274 448 FEHAMT 164 192 230 422
AE—TH 980 1, 005 1,133 2,138 JEIT 66 91 83 174
AJETH 1, 295 1, 291 1, 482 2,773 BT 149 169 190 359
T 1, 037 1, 068 1,134 2,202 H I 109 145 229 374
—hmT 809 835 929 1, 764 T 104 112 90 202
B hRmT 249 227 275 502 HORMT 68 77 91 168
P Iy 288 293 326 619 Hh[X & 660 786 913 1, 699
KERT1TTH 237 215 265 480
KEAT2 TH 438 402 486 888 AR X i 5B geq Fin
N 366 328 407 735 ‘m/ANE—TH 363 448 429 877
ASHT 245 198 268 466 B/AME T H 198 234 201 525
FEAHT 219 214 233 447 wBEETH 424 568 621 1,189
E) 134 125 147 272 A T 346 491 388 879
ST 328 302 384 686 BOF—TH 1,214 1, 608 1,523 3, 131
wE—TH 176 176 216 392 EOH_TH 1,946 2, 280 2,363 4,643
e _TH 875 1, 006 1, 146 2,152 S 907 1, 230 1, 290 2,520
wE=TH 438 396 413 809 IR BT 393 486 548 1,034
X 12,258| 12,936] 14,917[ 27,853 RAEMT 652 795 895 1, 690
/NS L AKHT 457 490 523 1,013
i R 5 e &t /N 1 T 637 616 660 1,276
B R 1,797 1,947 1, 888 3, 835 JEL 1T 1,162 1,270 1,471 2, 741
Faszallll 206 220 192 412 P RAAHT 889 985 1, 067 2,052
A LY 469 439 487 926 I AT 750 826 898 1,724
{7 Fniy 859 768 841 1, 609 HhX e 10,338  12.327| 12.967| 25,294
miF—TH 445 415 495 910
i — T H 473 501 581 1,082 [fEEHIX it 5 = gt
biHE 1 TH 261 253 302 555 YR T 569 699 776 1,475
KHEE2 T A 550 575 602 1,177 ST 224 275 235 510
W3 TH 325 319 361 680 EE AT 371 472 524 996
ZK FH T 338 334 357 691 = 315 415 457 872
HHT1TH 205 189 221 410 37 FH T 53 61 76 137
HEI2 TH 284 279 329 608 SR SERT 46 64 62 126
HL T 339 351 426 777 PR SEMT 68 91 104 195
75 5755 S T 12 285 31 316 E AT 21 22 28 50
Pa IASAHT 404 432 486 918 RN 90 131 125 256
BES1TH 278 279 311 590 el 94 105 143 248
BES2TH 763 807 857 1, 664 X EE 1,851 2,335 2,530 4, 865
M1 TH 313 322 340 662
Fﬁ"’\ 2TH 277 266 302 568 A X JLERG72 5 = B
Eta 3 T H 804 748 908 1, 656 [ EZIKEHT 201 321 328 649
HREF1TH 367 402 489 891 A — 144 160 175 335
HEE2TH 567 605 614 1,219 A JH%L 98 105 142 247
HGEF3TH 344 375 441 816 WIR=T H 42 53 67 120
EARELHT 932 1,072 1,210 2, 282 B} HT 127 151 180 331
T 2 JEURT 16 15 20 35 R R AT 55 72 71 143
L FH T 376 308 378 686 BRI 40 45 54 99
HH1TH 487 499 534 1,033 Hh[X & 797 907 1,017 1,924
WmH2TH 906 1, 020 1,120 2,140
ALl 474 531 527 1,058
HXE 13,871 14,556] 15,650] 30,206
=X LR e 5 'y Fin
PE R 174 273 274 547 - #5 5 % Fin
EREL 207 257 295 552 Xet&sEt 42,093  46,690] 50,962 97,652
1 [EmT 462 501 512 1,013
wa Ll 376 430 434 864
X ET 1,219 1,461 1,515 2,976

Mo DERIL [STEERREE] OREZLECEDANZHERLTEELEZLOTHY ., EREABENOAD LIZE

R0 ET,




